SLUM REHABILITATION AUTHORITY

No: SRA/Maint. Sec./Desk-1/ 68 /2022 Date: 09-01-2023

QUOTATION NOTICE

- 1. Quotations in sealed covers are invited from the Contractors so as to reach the office of the undersigned at Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai-400 051. on or before 17/01/2023 upt 3.00 p.m. for the work of Temporary shed for canteen area at open ground floor of Slum Rehabilitation Authority, Admin bldg. Bandra (E), Mumbai-400051.
- 2. The estimated cost of the work is Rs. 9,78,180 /- (Rupees Nine lakhs seventy-eight thousand one hundred and eighty Only).
- 3. The quotations in sealed cover shall be addressed to the Executive Engineer Maint/SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. The blank quotations can be downloaded from the tender section of SRA website www.sra.gov.in from 09/01/2023 to 17/01/2023 upto 3.00 p.m.
- 4. The quotationer shall quote in ink his percentage offer above/below or at par the estimated cost both in figures and words. The quotation should be submitted in a single sealed Envelope containing forwarding letter, quotation notice and duly filled Schedule-B and signed on each page.
- 5. The name of work for which quotations have been given should be stated clearly on the envelope containing the quotation and name of Contractor should be written on lower left of envelope.
- 6. The sealed quotation will be received by the office of Executive Engineer Maint./SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. upto 3.00 p.m. by 17/01/2023 and will be opened at 3.30 p.m. on the same day as far as possible in the presence of the contractors/their representatives whosoever remain present at that time.
- 7. The quantities as shown in Schedule 'B' are approximate. The payment will be made as per actual quantity of work done.
- 8. The acceptance of quotation shall rest with the competent authority who reserves the right to reject any or all the quotations without assigning any reason for doing so.
- 9. The quotation submitted by the quotationer shall be binding on him for a period of 60 days from the last date of receipt of quotation.
- 10. No alternation in the form of quotation or schedule of quantities, specifications shall be entertained.
- 11. The entire work is to be completed within 30 days.
- 12. The work shall be carried out in accordance with I.S. specifications for the particular items and as per the detailed specifications mentioned in Schedule-B.

- 13. The rates quoted shall be inclusive of all taxes, Octroi Duty and free delivery at site of work and nothing extra shall be paid on any account.
- 14. The quotationer is advised to visit and examine the site of work and its surroundings before quoting the rate and acquaint themselves with the site conditions.
 - 15. The contractor will have to make his/ their own arrangement at his/their cost for office and stores and safeguard the materials brought on the work and the materials issued by the department if any.
 - 16. The contractor shall provide all labours, tools, pegs, watering and all other materials as required for line out and setting out the layout etc. for the work without claiming any payment.
 - 17. After the completion of the work, the contractor shall remove forthwith all his/ their serviceable and un-serviceable materials from site of work and other debris shall be dumped and leveled as ordered within the scope of work if so ordered without any extra cost.
 - 18. No escalation shall be paid to the contractor.

Sd/-

Executive Engineer

Slum Rehabilitation Authority

ssued to:		
M/s		

Copy submitted to Dy.Ch.E/SRA for information.

Copy f.w.c's F.C/SRA for information.

Copy to A.E/ SRA, for information and necessary action.

Copy to notice board/SRA.

Copy to information technology department/SRA. For publishing quotation notice along with Abstract on SRA website.



SLUM REHABILITATION AUTHORITY

No: SRA/MAINT.SEC./DESK-1/ 6\$ /2022 Date: 69-01-2022

ABSTRACT

Subject:

Temporary shed for canteen area at open ground floor of Slum

Rehabilitation Authority, Admin bldg. Bandra (E), Mumbai-400051.

Sr. No.	Description of item	Quantity	Unit	Rates (rs)	Amount (rs)
Item No.01	Providing and fabricating structural steel work in rolled sections like joists, channels, angles, tees etc. as per detailed design and drawings or as directed including cutting, fabricating, hoisting, erecting, fixing in position making riveted / bolted /welded connections without connecting plates, braces etc. and including one coat of anticorrosive paint and over it two coats of oil painting of approved quality and shade etc. complete	1.935	м.т	106936.2	206921.55
Item No.02	Providing structural steel work in hollow section of various thickness and sizes in square, rectanular and round shape from 25mm to 450mm section as per IS 4923 YST 310 Grade produced from iron ore and blast furnace route etc. as per detailed designs and drawing or as directed including cutting, fabricating, hoisting, erecting, fixing in position, making riveted/bolted/ welded connections and painting complete.	0.942	м.т	124729.50	117495.19
Item No.03	providing and installing Corrugated precoated galvanized iron sheets	120.77	sq.mt	1366.05	164977.86
Item No.04	Providing and fixing high quality inter locking Concrete Natural Stone finish Pavers, made by using rubber moulds of 60 mm thickness, tested and certified by CSIR-CBRI, having strength of 500 kg/sqm. Pavers should have 10 mm face layer in white cement with pigment of Lanxess or TATA make and base mix in M 40 grade concrete. The pavers should be made available in 3 sizes 250x150mm,200x150 mm and 150x150 mm of approved finish and design of standard make on a bed of Crushed sand of 25 of 30 mm thick including skirting joints and cleaning as directed by Engineer incharge etc. complete.(Stone finish paver with Riven Surface / Different four textures). Prior approval of Superintending Engineer will be necessary.	112.48	sq.mt	2118.90	238333.87

Item No.05	Supplying and erecting LED Flood light fitting of 200W, including lamp, with PF > 0.95, class IP 65 and above Housing of pressure die cast aluminium alloy and heat sink extruded aluminium complete per specification No FGODF/FLS-2	4	EACH	22565.00	90260.00
Item No.06	Supplying and erecting double pole metal clad switch with HC type fuse 240V,63A on iron / GI frame as per specification no. SW-SWR/MDP.	2	EACH	1829.00	3658.00
Item No.07	Supplying & erecting mains with 2x2.5 sq.mm FRLSH copper PVC insulated wire laid in provided conduit/trunking/inside pole/Bus bars or any other places. as per	120	PER RMT	61.00	7320.00
	specification No: WGMA/BW	7	TOTAL EST	IMATED COST	828966.47
			OTTIE DO	CGST 9%	74606.98
				SGST 9%	74606.98
				TOTAL	978180.43
	SAY RUPEES 9,7	8,180 /-			

I/We hereby agree to quote% Above/Below or At Par with the estimated cost put to the
tender.
Therefore, the amount (in figure) (in words)

Sd/Executive Engineer
Slum Rehabilitation Authority